EARAROBEEIERT — 2 N— IBISH —F

201858H22H0 (k) 6EI/1IIE3H

PG k#4555 B3= IR —M

‘ [R1%] & ‘ [REBE] — | & (&) 15000 B

[A&E£] 17 :2,400,000 § ~ 23 :960,000 @ 3 7 :600,000 §

4 7% 1360,000 F . 5 3& : 240,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

0T t> 5 | EARE 1:36.7 2-2-2-1 [ 40.1| — 1 475 | NAREE (1)

1/5|7| FF/2v 7= 77 6.0 & Cp | B
o4O BASTLSTTFv > N 45035
o= o4 | EEAA 1:36.9 6-6-5-4 |39.7| — 3 497 | FEFAER (1)
EH 9 ARXEAFNRT 5.0 (1) +1) /(E) EvJdLy RIT7—L
LY LTM4N— b B:Fv—LFNRT fEH &
o4 | HTHER 1:37.2 4-4-4-2 | 40.4| — 4 510 | SAER (/1)
3(7|12| P77 56.0 (1'1/2) (20) | BEE
Y= IF— B:I—FKyT7—KIL [Il]=:Eye]
S o B4 | FEMER 1:37.3 5-5-6-4 |40.3| — 9 455 | BEF— (JII8)
sl E-E-AN=X 54.0 (1/2) () |
LAY/ RIA47T B:oza-v HRREt WHEKS
o s ¢ o o7 | EREA 1:37.3 8-8-7-7 |39.9| — 10 509 |&EFX (IE)
5 6| WA > hIXA 8= R (g +3) ) FRES
R:aAv>X B:Svyiahyi— H—L— - TvIN> - T7—LBERE
o= 4t 3 | MRS 1:37.6 3-3-3-6 |40.8| — 1 439 | EH—RI (&)
6813 N=THY 53.0 (11/2) (+7) (%) 72R>747 - %U—
R:EALINT Ry IR BUMFaFa HIE 7 7 — L
= oy K o4 | SEHEK 1:37.7 9-9-9-8 [39.7| — 6 491 | fERAZ (1)
] 5|71—-TAT7 vk 56.0 (7E) 4g) |HEBZ
L:xdAq/O— BINET« EEN S
S e . B 4 | EBAH 1:37.9 10-10-10-9 | 89.7 | — 7 504 | e (1)
81814 YRR 54.0 (11/2) G7) (#) PN 7— T
L:hrnN=— B:Y1—-FET>H B EPHS
— 0 . BHB :38. —13-12- . — g2 (1)
=AU N 4 6 B 1 (318)1 13-13-12-11| 39.5 5 (530) i#i%%
L7 RIA¥YTy IR B:vv=>/07-)b FEHE {8
. # 5 | HEEfE— 1:38.1 11-11-11-11{ 39.5 | — 13 | 481 | HHIEX (@)
~v 77— 56.0 (72) NG = e
L:Vv AT yh— BEXXvIELY pu e}

- = s el HFAt . —1-1- - SAE— (&)
N—E=—TIL5> i 5 s 1.(35).1 1-1-1-3 | 42.7 2 (4_954) ET’?SE%?E
R:HYIRG4 752 B:TUFsOvH— wEit ik

NS FEBA . =E=2 - TREET GAF)
EHEHLHEATF H o7 3 1.(319).3 12-12-13-13| 40.3 14 ;1_762) ésgal,ér,;
R:VUKYIYRIR BFEY Ay t—T P e

. g e :39. ~7-8- . — 1EREEEL (AFE)
Fra-F1TN "6 RS v N A Py |mEEx
L:Er/0704 B:NAhyTY [ESiie ]

. = REME 142, -14-14- . — FE—% (@)
TrA>74F— G (194{2{3) Htanaia) 422 2 ?fg HHFB=
R:Tv > JIRry b B:xyasnd & RS

® 1—F—@EBIERL
1T=7r= 1,7,13,12,11,9,2,6,5,14,4,10,3,8
2a=5F= 1,7,13,12,11,9,2,6,5,14,4,10,3,8
Ja=5= 1,7,13,12,9,11,6,2,5,14,4,3,10,8
43—7+— |7,12,1,(9,11),13,6,5,(2,14),(3,4),10,8
[ N5
B 7 220M 714K 7-9 250 e E 5-6 560 JEE 7-9-12 1,610
B B 7 130H4 7-12 370M e B 5-6 900M 3EE 7-9-12 4,340
9 1609 9-12 700M B & 7-9 510M
12 210 B HE 7-9 810M

ABICOVWTRDTEEERROODE. TR LIV,




